# Wagner, Andrew

From: Sent: To: Cc: Subject: Approved	Wagner, Andrew Friday, April 14, 2023 10:11 AM Steve Lessman; Howard Freidin; Bob Goldwin Lawrence J. LeVine RE: You have an invoice waiting (#000884)
Sent: Friday, April 14, 2 To: Howard Freidin <hfr <rudybux@comcast.ne="" cc:="" j.="" lawrence="" levine<="" th=""><th>reidin@gmail.com&gt;; Wagner, Andrew <andrew.wagner@nm.org>; Bob Goldwin</andrew.wagner@nm.org></th></hfr>	reidin@gmail.com>; Wagner, Andrew <andrew.wagner@nm.org>; Bob Goldwin</andrew.wagner@nm.org>
<b>CAUTION:</b> External en	mail, please be mindful before clicking links, opening attachments, or replying.
<pre><slessman@hotmail.co cc:="" j.="" lawrence="" levine<="" pre=""></slessman@hotmail.co></pre>	023 7:12:07 AM andrew.wagner@nm.org>; Bob Goldwin <rudybux@comcast.net>; MensClubPresidentContact</rudybux@comcast.net>
Please approve the pa	ayment.
Thanks,	
Howard	
On Thu, Apr 13, 2023 at	t 10:46 PM Lawrence J. LeVine < <u>lawrence@lawrencejlevine.com</u> > wrote:
See below We can p we're all set for next w	pay Beer on the Wall via CC. If we're good with this, Howard or I can enter payment details so veek
I dont think we're exer	mpt from liquor tax, and don't want to deal with fighting it
Forwarded me From: <b>Beer on the Wa</b> Date: Thu, Apr 13, 202	II - Arlington Heights < messenger@messaging.squareup.com >

To: < lawrence@lawrencejlevine.com >

## Beer on the Wall - Arlington Heights

Invoice Reminder

\$360.65

Overdue since April 12, 2023

## **Pay Invoice**

Private Tasting - Wed. 4/19 @ 8pm

Invoice #000884 April 12, 2023

#### Customer

Lawrence J. LeVine Congregation Beth Shalom Men's Club lawrence@lawrencejlevine.com 847-867-8984

3433 Walters Ave. Northbrook, IL 60062

### **Date of service**

April 19, 2023

### Download Invoice PDF

## Message

We appreciate your business!

Invoice summary	
Private Tasting	\$200.00
<b>Anchor - Steam Beer (12oz)</b> (\$1.78 ea.) x 14	\$24.92
<b>Fair State - KÖLD (12oz)</b> (\$1.78 ea.) x 14	\$24.92
New Belgium - Voodoo Ranger (12oz) (\$1.90 ea.) x 14	\$26.60
Half Acre - Spring Bock (16oz) (\$3.35 ea.) x 10	\$33.50
<b>Boulevard - Tank 7 (16oz)</b> (\$3.35 ea.) x 10	\$33.50
Subtotal	\$343.44
Municipal Sales Tax	\$2.87
State Liquor Tax	\$14.34

Total Due	\$360.65
Beer on the Wall - Abeeronthewall2	2@gmail.com
Please contact Beer on the Wa privacy pr	